
ASSEMBLY INSTRUCTION

EU  C000000US CA  C000000

INcvc093V01_GL

UK  C000000
DE  C000000
IT  C000000

FR  C000000
ES  C000000

834-214

60 MIN

Tools Recommended



PART
LIST

TOOLS RECOMMENDED

M3*12

M3*14

M3*10

M3*30

L 2

K 4

J 2

I 1

H 2

G 2

E 2

F 18

D 18

C 20

B 12

A 12



02

03

01③ 1

A 4

A 4

⑧ 1

④ 1

M3*12

K 2

J 1

D 5



05

06

04

M3*12

K 2

J 1

D 5

⑨ 1

① 1

A 4

F 4

⑥ 1

M3*14

M3*10

I 1

H 2

E 2



08

07

02

06

B 4

C 4

01

B 4

C 12

⑤ 2

② 1



09

10

B 4

C 4

⑦ 1

F 14

M3*10

05



12

11

03

04

M3*12

D 8

M3*30

L 2

G 2

D
one




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

